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(Fu Yw-.rd * ftma r,i cqt F<q,rC frqfR-d Te1? q{ eTq-{ er1slTq, frftaC r)

qS yq-{ srffi t I

l. €eril qrcqT Eifqq :

"q{ q=r* qR d gq+1,

n) *'€T d6blq q-€i ?

q-{ qrrqi ni Bq{ t
T6 dFruzT ffr ailq sEi ?

Erf* Rq-{ A e-6 d,

€r-fi t rm-qrd,

gql qdrun fu gu dr{ d,

t rfua ?"

P.T.O.



(2)

gTgIqT

"Tdl ffi-qrtfioii qJ 6q,

E i geli qri t',

fiTR ql qR a ert qrd fr,

elfr c-fi qfirA t I

RqaiffrM,
€ Yr*Ttr*. q{rqTrq,

T{A {fr d q-d €i,

fil{*1 fum-flm{ r"

z. t{q i t ffi nf*. 'rsivr q1 vqri'r qr€qT

qitw : s

.{r$, 216 sIrltfl"{ qrq1r{M q-t 3lTg[Et t | ffi, ={tf

*1 ccr-qeofcii il, vg-qfqFil if, ilqs-qrtr*1 i qtt'n

t*'il{r frd t I q €q ffi-goA dR Ed-fiF{A

gq $ qT-n'rA t d ee t r =rd * W ol 11

\rfi yn|< q.t qrQE{l-{Ft 5T*-R T6r t r *o qT getrt,

erd-erq thl qR, sd." tdq{ {61 t I
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(3 )

sTSr.[T

irq fin qffiq *0 ri*rq t ? d R aqq i <nq

efdf{€T e1 qror qtrm' {fr t r qqFrsrit * i qm

ffiqq qr$ q1 (16 drT rt t I d, 5fr erelFm

qT qRwtq Ai d r { firdr * qr€ qr$-n r {

q-as $ asil ffi frqffi er<a ei 3s*1 fiw qrq-ql

ol $fdf, ci I qmr or aisq f*q ffiT fi q d

w{l r t 31rcqn s-{ tlT I

5 r03

'q4frqq sT n5qq11' qr&fi + q.e{FFF

dfqq I

q1 qfieil

7

3{eIEr

'qqiqq q1 qgr61' qre* 61 qlsT g{m q.r efin-fi+xq

idfiqq

,rffi, €T-g35rdT * e11tm qt fiar qi qFa-Frut

tdFqq I
8

P.T.O.



(4)

3UEIT

'ri;rEfr' q-} ao {AfiT qr tFq qqr t ? {s qt

fTqR eifqq r

'6Cq1t' sqerm * e+rtTn qq Frqfldf@a wii * srt

Eitqq : ??

(i) 'm-d{i' f q€l * qfr nqEiq o1 et Efu
\€̂/

Slqun

'q.C$' it fqfucr E{eT sErsT qq fuq{ qfrfuqr

'6$gp' EqeTRT * enqn q{ €ctq w qk*-fu*ot

qifq\ 
r

3TSrqr

'qC{t' e.l W {afir q{ f{-qT{ qitq I

frqftTfu" ertdq S sTTsrR .rt sri * TtR

fdf€\ : 5

qKf, {m qrq eT. s{iqrrq et+sdn 41 rzsfr q.ifr

rrqrfi qr rS t ffi' fq{q sT E@ erqn srrf,I,
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(5)

FiiTdr st{ titSe 6T s{rs Ei eIT ffi 116€ 4l

e{TcT rfr 'rora 
qd qr s*nr 1 qqffi qffi q

EFd-d gfrm q-r €qrf, fr 3-{d t€q srlrFs' {6r

filq-S fdq v€ii fi-{i-qdd risd fdrqT I sflfi q{sl

{isd qfr-q-qaq1 Q qT | 3-d"n s€ qFHI qr i*'

ffi-q+en * qnq fi ,{;qd i €q qrf,{T el t*sTq

TS d crqt r qrfr-q*pn i d qR-fiq qEflsT t

"igd d ffafl fr TEz qr f<qT t r qrftrii ] qqrq'

4-r ffi*rq {v ir{d t t+-qr t fo q-d q* Ei

qTfd * qtd{ tr*.gi qrfd'f qt 'rfi t r qrftr'ii i

de sni +q q.i qlcffir q] q15q * fff 3i{

Rq:{ i frdr f<qr t =il rrq * fTqh it qgo q.$

qTtTI q{ rfi t r v€ii qrrf, *' qT<t-mq 3ii1

f{d{ ft1 €i Td Efts gf{qT * fq<n qi fr eqrfd

rdrqr I

(i) e-qd srje 6T siqd {frSq, frFqq | 1

P.T.O.

5103



(6)
5 103

7.

(ii) ,{Rrfq vqrq i[ iTqq s]rnr s-r fusre Fii TS

AqT{6rt ?

(iii) sI. qr+ee-i * fa;f,T * E@ eTTsrR FrT

*? 
2

(o') &rcT qn wqf * V6 6q fdFqq :

ERIqlq, atrlr, yq, qEuffr, qlsl, qrTT.rR,

fT+q I

(q) fl*rT t qi-+qi * {6 s-q fdfuq :

(,) gal EqRT el;tiT qqref +qr ft t I

(ii) lrq +q€ d*d qr:i dt t I

(iii) tr sr*} ErFr sr Afi t I

(/y) n e{qi qtqr C aqh T i"-q qR 
I

(o') ffiq @rsli * tdq K{iqTi Rqrq *1 sfl+fi

rr iiTnsq I



(7 )

sTqqr

w6r q T.6-fi erg{$r sl R{ m,.{i * fdq

iwlrfqerfr *i yfr.+{T tdfiqq I

(s) fqrfi gm fqq-q y{ lso y-<t' d s*.Bq

ftfisq :

o) lveTor S$Tr€lif q q--fii rtq{fr

(ii) q{trdT q+q{rT stn fETgrr RRazT

(iii) +M s1 qrrsT 
I

2,800
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